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Time : 3Hrs. Sem - V Arch  
Q. S. Value.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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OR

What are different methods of valuation of a 

building? Describe the valuation by Rent return

method.

***

2 1637505

1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

The volume of 1 bag cement is :
3

(a) 0.067 m
3

(b) 0.050 m
3

(c) 0.033 m

(d) None of these

Advance payment is made to a contractor for

work down by him against...............

(a) Detailed measurement

(b) No measurement

(c) Partial measurement

(d) None of these
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(iii)

(iii)

(iv)

(ii)

in record as a proof of payment
(a) Bill
(b) Voucher
(c) Measurement book
(d) None of these

under any regular head of items and the cost
of unforeseen items are called
(a) Lump-sum
(b) Extras
(c) Customary charges
(d) Contigencies

1637505
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(iv)

(v)

(v)

(vi)

The number of modular bricks required to 
3

make 1 m of masonry is
(a) 480
(b) 500
(c)  540
(d)  520

openings if the area of openings does not 
exceed

2
(a) 0.5 m

2
(b) 0.25 m

2
(c) 0.15 m

2
(d) 0.10 m

291637505

With the help of figure 2, prepare a bar bending 

schedule for an R.C.C beam.

11.

6
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(vii)

(vii)

(viii)

(vi)

Bearings of floor and roof slabs are................
from the wall masonry.
(a) Deducted
(b) Not deducted
(c) Both (a) and (b)
(d) None of these

Thickness of D.P.C is usually.............cm.
(a) 2.5
(b) 5.5
(c) 10
(d) 15

1637505
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(viii)

(ix)

(ix)

3
(a) m

2
(b) m

(c) m 

(d) None of these

...............for complete work.

(a) Running metre

(b) sq. m.
3

(c) m

(d) None of these

(x)

271637505

OR
With the help of figure 2, estimate the quantities

of shear bars in the  R.C.C Beam.

P.T.O
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The scrap value of a building is................of
its total cost of construction.
(a) 10%
(b) 15%
(c) 40%
(d) 30%

In detailed estimate, the provision for work
charged establishment is...................of the 
total cost.
(a) 1 to 2%
(b) 2 to 5 %
(c) 8%
(d) 10%

(xi)

(xi)

(x)

1637505
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(a) Loses in advance

(b) Interest on investment

(c) Travelling expences

(d) Amenities to labour

The amount required to be deposited by

a contractor while submitting a tender is

known as:

(a) Fixed deposit

(b) Caution deposit

(c) Security deposit

(d) Earnest money deposit

(xiv)

(xii)

(xiii)

(xiii)
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With the help of figure 2, estimate the quantities

of main barsin R.C.C Beam.

10.

6
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prepared if the sanction estimated exceeded
by:
(a) 2%
(b) 2.5%
(c) 4%
(d) 5%

(a) D.P.C
(b) Form work
(c) Concrete Jaffries
(d) R.C.C chhajja

(xiv)

(xv)

(xv)

1637505
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With the help of figure 1, estimate the D.P.C at

plinth.

10 1637505

additional length is equal to:

(a) 0.707d

(b) 0.8d                Where d= effective depth

(c) 0.9d

(d) None of these

0 
45

(a) Detailed estimate

(b) Preliminary estimate

(c) Plinth area estimate

(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)
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then weight of rod in kg/m length is nearly:

(a) f /162 

(b) f /150

(c) f

(d) None of these

 

(a) 100/ rate of interest

(b) 100/ interest

(c)  Both (a) and (b)

(d) None of these

1637505
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(xx)
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(xx)

Answer all Five Questions.
4 x 5 = 20

2.

4

Write the purpose of rate analysis.

211637505

With the help of figure1 estimate the Brick work

in super structure. 

9.

6
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3.

4

4

1637505

4.
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OR

value.

What are different methods of valuation of a 

building ?

What are the objectives of estimating ?
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OR

OR

4

5.

Distinguish between preliminary estimate and 

details estimate.

line method.

constructed on a plot in delhi at a cost of Rs 

1600000. The height of the building from ground

level to the top of the roof is 3.2 m and barapet 

wall ht. 800 mm is constructed on the terrace. Using

plinth area method, calculate the cost of a similar
2

building of plinth area 140m in the same locality.

191637505

OR

With the help of figure1 estimate the brick work

in foundation and plinth.

P.T.O
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What is check measurement book ?

book and a standard measurement book?

OR

6.

4
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Analyse the rate of R.C.C (1:1  :3 ) work is slab.
1
2
_

16 1637505

OR

8.

6

                 GROUP  - C

Answer all Five Questions.
6 x 5 = 30

7.

6
_

Analyse the rate of (1:5) cement plaster of thickness

12mm.

 

of earth work in excavation in foundation. Also

estimate the lime concrete in foundation.

171637505
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